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Module 6/7 Exam

1. Which characteristics of Ethernet contribute to its widespread use? (choose three)
a. Ease of maintenance
b. Collision free technology

c. Scalability

d. Low cost of installation

e. Compatibility with 802.5 standards
f. Collision avoidance capabilities

2. Where does the MAC address originate
a. DHCP server database

b. Configured by the administrator

c. Burned into ROM on the NIC card

d. Network configuration on the computer

e. Included in the creation of the processor chip

3. What is the length of a MAC address?
a. 8 bits

b. 8 bytes

c. 24 bits

d. 24 bytes

e. 48 bits

f. 48 bytes

4. How is a MAC address represented?

a. Four groups of eight binary digits separated by a decimal point

b. Four Base10 digits separated by a decimal point

c. Six hexadecimal digits

d. Twelve hexadecimal digits

e. Twenty-four Base10 digits
5. Which features describe the concept of Carrier Sense Multiple Access Collision Detection? (Choose two)

a. Collisionless environment
b. Non-deterministic

c. Deterministic

d. Uses first-come, first-served approach

e. Uses a token to transmit data

6. What is the name of Layer 2 Protocol Data Unit (PDU)?
a. Packet

b. Frame

c. Bit

d. Data

e. Segment

7. In which two layers of the OSI model does Ethernet function? (Choose two)

a. Application

b. Session

c. Transport

d. Network

e. Data link

f. Physical

8. Which ports on a hub forward traffic?

a. Only to the port where the destination host resides
b. To the ports in all other collision domains
c. All ports except the originating port

d. All ports

9. Which of the following describe Ethernet MAC address? (Choose three)

a. 24 bit OUI and 24 bit serial number
b. 32 bit network and 48 bit host address

c. 6 pairs of hex digits

d. 48 hex digits
e. Logical host address physical address

10. Which of the following are Fast Ethernet technologies? (Choose two)
a. 100BASE-5

b. 100BASE2

c. 100BASE-F

d. 100BASE-FX

e. 100BASE-TX

11. Which media types can be used in an implementation of a 10BASE-T network? (Choose three)

a. Category 5 UTP

b. Category 5e UTP
c. Category 3 UTP

d. Coaxial cable

e. Multi-mode fiber

f. Single mode fiber

12. For a network manager planning the installation of a new network, which of the following will be needed to implement a typical 10BASE-T network installation? (Choose three)
a. RJ-11

b. BNC connectors

c. RJ-48 patch cables

d. RJ-45 connectors

e. Category 5 UTP cables

f. Hubs or switches

13. What is the maximum distance that 10BASE-T will transmit data before signal attenuation affects the data delivery?

a. 100 meters

b. 185 meters

c. 300 meters

d. 500 meters

14. 100BASE-TX operates in which transmission modes? (Choose two)

a. Reverse simplex

b. Full-duplex

c. Half-duplex

d. Full-biplex

e. Single phase biplex

15. Which of the following statements are correct about CSMA/CD? (Choose three)

a. It is a media access method used in LANs.

b. It is a media access method used in FDDI WANs.

c. When a device needs to transmit, it checks to see if the media is available

d. A device sends data without checking media availability because all devices have equal access.

e. Multiple devices can successfully transmit simultaneously 

f. Only one device can successfully transmit at a time

16. Broadcast domains can be contained using which one of  the following devices

a. Hubs

b. Routers

c. Switches

d. Repeaters

17. The duplex mode has to match between the two ends (node and switch) of an Ethernet connection?
a. True

b. False

18. The speed has to match between the two ends (node and switch) of an Ethernet connection?
a. True

b. False

19. Switches are used to overcome collision problems?
a. True

b. False

20. Routers are used to overcome broadcast problems?
a. True 

b. False
